A & o & AF & H Al A
2019U1 & =0l &F 2 ukal
2H: HSXED
& 200 Alol%el
o210 AN ALY
8 o211 ManaY (69 @2
SN2 Ol &k 24 B ol by Bl =2t
ES Al 5,911,631 5,289,797 621,834
M= XI& Dt 5,911,631 5,289,797 621,834
200 Mel=+=¢ 3,580,000 3,330,000 250,000
210 BTN == 3,580,000 3,330,000 250,000
211 THAHR O ==& 80,000 80,000 0
211-02 SRMAL U= 80,000 80,000 0
O33HMSAE RS 80,000,000 80,000
212 A2 ¢ 3,500,000 3,250,000 250,000
212-08 JIEtAIB & 3,500,000 3,250,000 250,000
OS3M=SAE AAEZ 3,500,000,000 3,500,000
500 Ex = 2,331,631 1,959,797 371,834
510 3 182X3S 2,242,707 1,376,907 865,800
511 208X =3S 2,242,707 1,376,907 865,800
511-02 2L A ELEBHEXS 1,860,000 1,002,000 858,000
O=2Rss7E &MY 540,000,000 540,000
OXGAZEME 2HE 920,000,000 920,000
Ogds Ms2 =4 400,000,000 400,000
511-03 213 382,707 374,907 7,800
OdYH MEMSNEH 2 107,232,000 107,232
Ozd 8g MaHMsAEh 2F 67,020,000 67,020
OLAEZ2AXH0ISHAMY 208,455
520 Al - SHIEX2S 88,924 582,890 A 493,966
521 Al - SHIBXZ2E 88,924 582,890 A 493,966
521-01 Al - SHIE X3S 88,924 582,890 A 493,966
OAZ=ZH0I ALY 26,801
OMEHSDA 29 10,886
OHEM=s g4 4,000,000 4,000
OoROASRA 29 1,901
OFAW MDA 29 1,901
OB+ MBS 29 2,074
OCMMENS e =9 1,123
O2¥UE 24 HS 604
Ol MSSotel X 14,634
Q2019 KBSHH &= Z=H &N ot U3l 25,000




N = 0l & At & Ml A

20199 &= =0 &b LA M KA

M MEXE 0
M MEHE 24

Ee: MEHs 245t (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
M= X &t 18,173,811 19,132,910 A 959,099
s 1,860,000
J| 382,707
< 88,924
Al 15,842,180
dHEHE 4 9,639,830 9,955,455 A 315,625
s 1,860,000
J| 382,707
< 63,924
Al 7,333,199
MEH=S 243 1,333,150 1,263,623 69,527
| 382,707
= 63,924
Al 886,519
MEaHsnY 2H(ZHEX) 36,288 36,288 0
< 10,886
Al 25,402
307 21201 A 36,288 36,288 0
< 10,886
Al 25,402
02 QItFAAHE X 36,288 36,288 0
OdaEHsns 29 36,288
< 10,886
Al 25,402
MBS 2 (XMMH) 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
02 It M AMHEE 3,000 3,000 0
Odtsna 24 3,000
MEXsUa HE 2 FIHXA 384,800 374,100 10,700
202 o4dl 2,800 2,100 700
01 = LH o4 1l 2,800 2,100 700
OdENE dFFEAHI 2,800
307 21201 A 382,000 372,000 10,000
02 LB AAHEX 146,500 136,500 10,000
OS2t MSEHA ALY BX 20,000
OdEdsla =30z &It XA 13,500
OZaEE MEHsUHSHE It X2 105,000
OZagr dEdsUsd fida EX 3,000
O&dd & &= AOESU= &It 5,000
04 DIZHHALALSE E X 235,500 235,500 0
Odex=s =28 3l s X 142,500
OHM213 AIZHH BHESQIE S JHEl 4,500
OHM213 AEIl ZIJIs532U3 M= 20,000




2N
X ZH -
L= B

el

NI
MBS S4
MEHS 245

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
OHM28al ZaHAIEI HOIESUE Mzl 3,000
ORMI122l oA ZE II= Chal JH = 4,500
OHMI38E ZaHAIEI HILIAKSE JH=E 3,000
OHMI32l ZoiAIE) d&d=s &7 Wal Wl 5,000
OHM3al 2AHAIZE II2== Hal il 3,000
OXI152 ol AIEIl OF*TH2l JHE 10,000
O8.15&F=&JIE ===dZ ZJIUal A 40,000
UBTMEN SN A WX (B2SX)(2LEX) 214,464 204,864 9,600
J| 107,232
Al 107,232
307 glz2tol & 214,464 204,864 9,600
J| 107,232
Al 107,232
02 It M AHE X 214,464 204,864 9,600
OFUMN MEHSUTK HIX X (8) 214,464
J| 107,232
Al 107,232
UBME S SA BIX(2SXS)(RHMIHE) 26,880 22,080 4,800
307 21201 A 26,880 22,080 4,800
02 YAFHAANGFEX 26,880 22,080 4,800
OXLN MEMSANEXN nSH XA
100,000& * 8% » 12JH& 9,600
OXLN MEMSANEXN SAH XA
130,000& * 8% » 12JH& 12,480
OFLN MEMSXNEX SE2FOHH XA
300,000& = 8% « 23] 4,800
HEHSSL N 4,000 4,000 0
= 4,000
307 g2+l & 4,000 4,000 0
< 4,000
02 IZtE A AHEE 4,000 4,000 0
QdeEr=ssd 4,000
< 4,000
MEsZ IS 25,342 25,342 0
< 7,603
Al 17,739
307 21201 A 25,342 25,342 0
< 7,603
Al 17,739
02 QIAHFAAHFEX 25,342 25,342 0
O0elldsuns 29 6,336
< 1,901
Al 4,435
OFaddgunsy 29 6,336




SM: HSXED
MY MEIS R4
ool MEIS B

SN FHE - B(SA) - MEAY - BHES il 2
< 1,901
Al 4,435
OFx=Lod=sts 29 6,912
< 2,074
Al 4,838
ogdeEx=sts 249 3,744
< 1,123
Al 2,621
OS8UE FA2HM= 2,014
< 604
Al 1,410
24 MEXHSXNEX BIX(ESXNE)JI2E=X) 134,040 128,040 6,000
| 67,020
Al 67,020
307 21201 A 134,040 128,040 6,000
| 67,020
Al 67,020
02 B LA EX 134,040 128,040 6,000
OEadY MEMSXNA BIXl X2 (6Y) 134,040
| 67,020
Al 67,020
i MEHNSIZA HX(2SXE)(XHHS) 16,800 13,800 3,000
307 21201 A 16,800 13,800 3,000
02 It S AT EL 16,800 13,800 3,000
Osudg MEXNSXNEA nsd XA
100,000& = 5% 1204 & 6,000
O dg MENSXNEZA S4H XA
130,000& = 5% 1204 & 7,800
Ozddg MEXNSXNEA EFIHH XA
300,000& = 53 =« 23| 3,000
ool Msas N 130,476 97,117 33,359
307 21201 A 130,476 97,117 33,359
02 QB AAFEX 38,500 38,500 0
OZXOo CtetEHs &t 2,000
Os0teld=cHal &It 3,000
Osotel 2dis &It 2,000
O3g ZUMUMENIUHE Fot 8,000
OHOMNE 830Hal FHIXE 10,000
OHM183 ZOHIZIIIME cHEZE S F It 1,000
020198 2 XNHMEOMC MU= &It 1,000
OHM123 BEEZXAI HOIEE &=d U3
2t 1,500
OHM21sl LNEAH0E=Z dAUS FHIt 1,000
OZHAIZOHA M F & Al A 3,000
OFMeIN=3 & 2l 6,000




2N
X ZH -
L= B

el

NI
MBS S4
MEHS 245

SA - S (SA) - ARMY - B il 2
03 BIAHMNHE2IHIEL 45,976 42,617 3,359
OZHAIEHAM=ZS At 41,976
- tE 41,976
s 2,265,200& = 12& 27,183
d2+g 2,265,200& = 23| * 15% 680
HEFOH 2,265,200& * 23 * 60% 2,719
NgExasY 125,000& » 12&8 1,500
= Altl 130,000& * 123 1,560
A2tel =5 8,980& = 10AI2t = 128 1,078
I At
2,265,200 * 86% * 1/30 » 7 455
28= 35,172,350& = 11% 3,869
SRS 172,350& /12 2,932
OZHAIZMHAM=ESE MRE= 4,000
04 QIZFHALAIH 2 = 46,000 16,000 30,000
OM3al aHAIEI HOHAANOIESHE M 4,000
OM14sl XM OtSHSUHE Al 2,000
OHM6al oA ZOHAMFCHS N = 25,000
OHM27al 2=s0tAMSHSE N = 15,000
Zoe M=ssotel X 29,268 27,200 2,068
< 14,634
Al 14,634
307 glz2tol & 29,268 27,200 2,068
< 14,634
Al 14,634
02 AHFLYAEEX 29,268 27,200 2,068
OZOMAM=S0tel X& 29,268
=) 14,634
Al 14,634
A= 25 0EA XA 297,792 297,792 0
J| 208,455
& 26,801
Al 62,536
301 et d = 297,792 297,792 0
J| 208,455
& 26,801
Al 62,536
01 MEI2BZE 406z 297,792 297,792 0
OAZ=2x0E82 297,792
J| 208,455
< 26,801
Al 62,536
. d344E E32(1-210) 22 30,000 30,000 0
307 glztol & 30,000 30,000 0




2N
eS|

el

X ZH
S =

=X

d42Hs 243

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 QIZHSHAFAIE 2 X 30,000 30,000 0
o209 ® . #d44 =32(|-210) &4 30,000
HEANE 25 £ FAEB 8,306,680 6,910,332 1,396,348
Ras 1,860,000
Al 6,446,680
HMEANE FAE 1,768,680 1,520,332 248,348
101 @121l 10,020 18,072 A 8,052
04 JI2ZtH22XNHEE =+ 10,020 18,072 N 8,052
OomzasT & AL oF2Y
66,800& * 15 * 52 * 23] 10,020
201 et A bl 187,660 187, 160 500
01 AFR2t2ldl 22,620 22,120 500
OMLMy B2H 2
70,000 = 1504 = 2&20F *~ 33 6,300
OMSAE S22 I L SN
600,000& =* 53] 3,000
O2MEs2 =XE ASA dxs
170,000& * 12& 2,040
Oysizel flg+42
120,000& = 204 = 128 2,880
Od&J|td&2te a5 700,000& * 123 8,400
02 33249l 165,040 165,040 0
OMEA4E S 70,000
ONE3d 2 M= S 8IIME=s 86,400
OMEAAE &dot=% MES 8,640
202 (4] 2,800 2,100 700
01 2L Y] 2,800 2,100 700
OMESAIE &X - 22 SR =& bl 2,800
207 AT OH ] 15,000 90,000 A75,000
01 A9yl 15,000 90,000 A75,000
OMSAL 9gt2 MR
15,000,000& * 1JH 4 15,000
307 QI2t01 ™ 65,200 60,000 5,200
B OIAHMBPI2IHIEX 65,200 60,000 5,200
ONM=EIANIE dXtZ 40,000
OM=3 & ;X AIRA XIS 2 25,200
401 Al HI L S THY| 1,488,000 1,088,000 400,000
01 A& HI 1,485,000 1,085,000 400,000
OZ2Z2HM=EANE RANES 450,000
OesH=ssd UsHEPRE FH 60,000
OosHEssd tUsd2E JY| 50,000
O2ds T&E Jl 100,000




2N
X ZH -
L= B

el

=X
MEHY =S
M= A4

Jo o
of 0x

He
10
>
T

AL
e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O2%s HolEEZE AHH| 100,000
OXHFZB2LE2SE HULAX HH| 200,000
OlldB4dasd otMAC 20,000
Ogdsisesd EXNEH 40,000
OXRHM=E2E AMAIMH 100,000
ONME& e Mg 45,000
OMSAE HLUOHM XICH
20,000,000& * 50 100,000
OFRALZXHMEH =9 & XD &4 70,000
OMEsSANE AHEH L Xl 50,000
OMESAE ZHAY JI2HE £ Bgd HE
=29 20,000,000 * 44 80,000
OXot2mM a2 & M| 20,000
03 AlE 21| 3,000 3,000 0
ONMSANE RANEL AL 3,000
SESEFE ZHEAY 1,757,000 1,800,000 A 43,000
Fas 540,000
Al 1,217,000
401 Al HI L £ 0HHI 1,757,000 1,800,000 A 43,000
= 540,000
Al 1,217,000
01 Al& H| 1,757,000 1,797,000 A 40,000
SESEFREYE LAY 1,757,000
= 540,000
Al 1,217,000
RAAILXAME HE 3,054,000 700,000 2,354,000
= 920,000
Al 2,134,000
401 Al HI L 2 0HHI 3,054,000 700,000 2,354,000
= 920,000
Al 2,134,000
01 Al&H| 3,054,000 700,000 2,354,000
OFYGATIAMEH HE 3,054,000
Fag 920,000
Al 2,134,000
2olESEg2sd 24 & HEAE Hd 200,000 0 200,000
401 AIEHIZL £ 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
2olsegesd &4 2 MEAE 0ld D=2
HaElsd 200,000
s E32E F4| 200,000 200,000 0
401 AlEHIZL 2 0HY| 200,000 200,000 0
01 Al&H| 200,000 200,000 0




2N

=X

M MBS S4
S HMSAL 25 ¥ SRS (29l 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFRHMESH M3z =31 X4 200,000
g s s =4 1,327,000 350,000 977,000
as 400,000
Al 927,000
401 Al HI L £ 0HHI 1,327,000 350,000 977,000
Ras 400,000
Al 927,000
01 A& Hl 1,327,000 350,000 977,000
Ogds Msa =4 1,327,000
hag 400,000
Al 927,000
HEM=E 4 7,272,041 7,480,035 N 207,994
ABLEME 8435 7,272,041 7,480,035 N 207,994
ANE =328 29 2,790,703 2,724,020 66,683
201 242 Y| 132,350 111,400 20,950
01 AFR2t2l bl 104,350 85,200 19, 150
Odzx==2 22l 2,000,000& * 12& 24,000
OUALEe] 2l A3 Y| 50,000
O3 29| 200,000& « 12& 2,400
Osd) 22 HE S 11,500
Od=Xte aloIIHAIIE &H
125,000& * 123] 1,500
OdYrC 203 & 10,000
Osd) Z232e+AX ZHl 330,000& * 153 4,950
02 =294l 28,000 26,200 1,800
Odx==h TAIIARS 750,000& « 12& 9,000
Odx=Xtg KXY 1,250,000& = 12& 15,000
Od=xtg 288 1,000
Od==4 2HY & TV =482
250,000& = 12& 3,000
202 04| 1,400 1,400 0
01 2ol 1,400 1,400 0
Olsl&d 2&E323 0yl 1,400
301 Bt A= 2,425,953 2,351,220 74,733
09 HALAHIEA = 26,000 23,100 2,900
OE&E)| #HAIXHE I AHI 24| 22,250
—-otZEY 59 3,000
-Sg4 29 400,000 * 153 6,000
- &UW OtLI2 A 200,000& =« 153 3,000
-JIEA (27|, &
70,000 * 2 x 153 2,100
-=820| 25,000& * 10¥ = 153 3,750




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- A& 3| 3,000
-SAE P2 1,400
OMEHA EsHl K& 250,000& * 153 3,750
W= - 2s2SE243 2,399,953 2,328,120 71,833

(@)iFals] 1,620,800
-J23 1,422,000
= 63,000,000& * 1H 63,000
=M A X 52,000,000& * 1&H 52,000
GKZ2 XI 48,000,000& * 1H 48,000
- Edoly 44 .000,000& ~ 1H 44,000
&= (A3) 55,000,000& * 59 275,000
- 2= (B2) 45,000,000& = 10Y¥ 450,000
&2 (C2) 30,000,000 = 5H 150,000
-6 2=(02) 20,000,000& * 10H 200,000
- 22X E A 34,000,000 = 1 34,000
H A DA 34,000,000& * 1H 34,000
S AMNR=HE 40,000,000& = 1H 40,000
=4 X2 32,000,000 * 1 32,000
-sdx=% 680,000& * 25 * 103/ 170,000
-IEsY 9,600
o < Xt 40,000& = 10¥ » 12& 4,800
SeII=E 20,000 = 20 * 12€ 4,800

P UEEE: = E=s-Igm}
400,000& * 3H * 43| 4,800
-5 gsH| 14,400
OB8g= 200,693
-&£C MHWEES 15,000
-4 28 & 1,768,500,000& * 10.5% 185,693
Og &2 50,000
Ozddl & s&Z&HI 378,840
—-&=sdt| 235,200
-3 sd& 3 88,200

AHLEel A
72,000& * 35¥ * 22 * 103/ 50,400

LAY dA O3 ¥ FA-Cup S

72,000 = 35YH * 15 37,800
—8XZE&H 72,0008 * 35" x 112 * 23 55,440
ORxdX&A 42,800
-3 gaxt ZAZ3 8,000
-REH AJI2H| 30,000
-6 XI&H| 200,000 * 2 = 12& 4,800
Oolls &« 283 96,940
-=373 250,000 * 34H ~ 3&Z¢dl 25,500

_8_




M MSX A
HM. M2MHE 4
te: delEd=E 43t (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-SLUS 66,000 » 30 * 48 * 23] 15,840
-Fcld § 8= 900,000& * 34" x 13 30,600
-S2SE8S 5,000
-2 18,000
-2LZ3 MNEH 200,000& * 103 2,000
OR4ads Xz 2,000
O&AHAE A 2,500,000& * 23] 5,000
OZFAENZT E&E0Hl 72,0008 » 4% = 10 2,880
401 AIEHI L 200 1,000 0 1,000
01 A& bl 1,000 0 1,000
ONfE=A RAE2H| 1,000
405 X+H&HF SHI 230,000 260,000 A 30,000
01 MMt = S F SHI 230,000 260,000 A 30,000
ONFE=TE A 2 230,000
M=z &3 L &It 1,920,537 2,042,983 N 122,446
202 04| 4,500 3,800 700
01 2LHOHI 4,500 3,800 700
OMEsXNdEd d2F=XAH| 4,500
203 € R =&Y| 2,000 2,000 0
03 Al =X H 2 =X Y| 2,000 2,000 0
OMEXN LRF=XH| 2,000
307 212t01 & 1,914,037 2,037,183 N 123,146
02 DIZtZ &MY E X 982,600 957,590 25,010
OM583 BALZOH=US 382,300
-SOMAE ESHH| 192,000
-GSO MAE =8yl 152,500
—AAUAT HH2 L ofatAalY| 37,800
OZUMAEUYH =& F4HI 432,000
OM1008 d=HAM=C3 XA 10,000
OHN483 H=2AEMUHS ZHOLAA 5,000
OX=U3 LAX 2dH 40,000
020198 B2ENES A2U3 Ot 6,300
02019 ZaHAIM S A AlatA L X=0lo & 6,000
OQUCIEXME JASSHA XA 64,000
SUIEIAl AZ=DNE §EH| 14,000
02019 2 Al .2 UIEIAl A8 0F2E W2 3,000
ON=3 JIFESHH /23S 5,000
O=ZIE 294 A& 15,000
03 AAHNEESIHIES 931,437 1,079,593 N 148,156
OM=3 =3 32X 21AHHl XL 385,560




M MEXE 0
AN HEHE 24

& deEMSE 45

SA - ZE-B(EA) - NRAY - B S il &t o il
-Jl2s 1,840,000& » 17 » 12& 375,360
- EFOHl 300,000& = 17 « 23| 10,200

OME3 =332X 400 2=
385,560,000& * 11% 42,412

OMSs #32% SNHD
85,560,000 * 1/12 32,130
OM=3al AIR= 29l 37,500
OZolAlM =2l el 318,685
-JlE= 240,501
CANRIE(HEE) 46,385

MR X (62145 IIE)
3,239,200& * 12&8 38,871

MNHEE (72115 JIE)
2,692,400 = 12& 32,309

2YYB (73 75 IIE)
2,330,600& = 12& 27,968

ERE (72 108 JE)
2,609,000& = 12& 31,308
el (82 55 JI&E) 1,920,500& * 12& 23,046
gg(92 558 JIE) 1,732,300% * 12€ 20,788
=292 43 JI1&E) 1,652,1008 * 12& 19,826
-dz2=+% 10,433
AR IE 3,239,200& = 50% * 23| 3,240
AL EE 2,692,400 = 45% * 23| 2,424
=2IEE 2,330,600& = 30% * 23] 1,399
EFREH 2,609,000& * 30% * 23l 1,566
CH el 1,920,500& * 25% * 23| 961
g 1,732,300& * 10% * 23l 347
=g 1,652,100& * 15% * 23| 496
- EFOHl 19,414
AP X E 3,239,200 * 60% * 23| 3,888
- ANSEEE 2,692,400 = 60% * 23| 3,231
=2IEH 2,330,600 * 60% * 23| 2,797
- EREE 2,609,000& * 60% * 23| 3,131
- thel 1,920,500& * 60% * 23| 2,305
g4 1,732,300& * 60% * 23 2,079
=g 1,652,100& * 60% * 23l 1,983
—AgEXxsY 16,200
CAMNRIE 400,000& = 12& 4,800
- AP X E 155,000& * 123 1,860
CAMSEEE 140,000& * 12&8 1,680
2IEH 140,000 * 123 1,680
- EREE 140,000& * 12&8 1,680
- thel 125,000& * 128 1,500




D HSXED
L H2HS 84
D ARAEHS A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ge 125,000& * 12& 1,500
=g 125,000& * 12& 1,500

- Z U gAY 12,480
AR=F 130,000& » 12& 1,560
AR I E 130,000& * 12& 1,560
CAEEE 130,000& » 12& 1,560
2IEH 130,000& * 12& 1,560
- BEREE 130,000& » 12& 1,560
- thel 130,000& * 12& 1,560
== 130,000& * 123 1,560
=g 130,000& » 12& 1,560
-IE=4 7,440
CAR=FE 40,000& = 123 480
AR IE 120,000& * 12& 1,440
CAMEEE 120,000& » 12& 1,440
EREH 180,000& » 12& 2,160
g 40,0008 = 123 480
=g 120,000& * 128 1,440
- QI0tR A Y| 4,025

NEEY
3,865,400 * 86% * 1/30 = 7 776

AR IHE
3,239,200 * 86% * 1/30 = 7 650

AR
2,692,400 = 86% * 1/30 = 7 541

SHYE
2,330,600 = 86% * 1/30 = 7 468

SRR
2,609,0002 * 86% * 1/30 * 7L 524
- thel 1,920,5009 * 86% * 1/30 » 7 386
=0 1,732,300 * 86% * 1/30 » 7 348
=g 1,652,100 * 86% * 1/30 » 7 332
- A2t 8,192
AR XE 11,4013 = 10AI2H = 12& 1,369
AL EE 10,299& = 10AI2+ » 12& 1,236
=IEH 10,2992 » 10AI2F = 12& 1,236
- EREE 10,299& = 10AI2+ » 12& 1,236
Chel 9,2463 = 10AI2F = 128 1,110
g 8,350& * 10Al2H = 12& 1,002
=g 8,357& * 10AI2F = 128 1,003
OAMRZ H& AR Z 26,558
OME=Z A AHEE = 35,056
OMS3s HASHEA 2AHH] 28,200




M MEXE 0
AN HEHE 24

& deEMSE 45

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-Jl2s 2,300,000 * 12& 27,600
- EFOHl 300,000& = 23l 600
OMsz HASEE 401 EE 2
27,600,000& * 11% 3,036
OM=sz HAREE EXHEZES
27,600,000& / 12& 2,300
OM=Esl & 24Hl(|XHl, EEE28) 20,000
oto1g =29 1,705,801 1,617,632 88,169
201 Let24E] 22,955 37,955 A 15,000
01 At 22l 6,600 6,600 0
Odhal=4a 29l 150,000& » 12&8 1,800
Odhal=x NE ¢ FA85 7Y
150,000& * 123 1,800
OdtIl=a MEARE 2 150,0008 * 128 1,800
OGt2I8 Xt& SHOIIHAIE A
100,000& * 12& 1,200
02 =224l 16,355 31,355 A 15,000
OdhII8 Xty Edx 1,000
Odlal=a gyl & Tvedlz &
250,000 * 123 3,000
OBdt2I18 X+e XS Al 115
Odt218 Xt =X bl 1,000,000& * 12& 12,000
Odtllg X2 ALYs 248
20,0002 = 12& 240
202 044l 1,500 1,500 0
01 = LH o4 1l 1,500 1,500 0
Oz s=d &322 ol 1,500
301 et A3z 1,601,346 1,496,177 105,169
o=t - 2S2S243 1,601,346 1,496,177 105,169
Ol 1,002,962
A== 769,487
4= 4,729,500& * 18 » 123 56,754
DX 3,787,400 + 198 « 128 45,449
o= 2,780,350& » 20 » 12&8 667,284
-—2gg 82,800
= 500,000& = 1& = 128 6,000
X 400,000 = 1¥ = 128 4,800
o= 300,000& = 20H » 123 72,000
-d2+4 64,125
= 4,729,500& * 50% » 1H « 23| 4,730
X 3,787,400 * 50% » 1¥@ » 23 3,788
o= 2,780,350 * 50% = 20 = 23| 55,607
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P HEEHE |4

el

X ZH
S =

=X

delENM= 2453

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

-G E S| 76,950
A 4,729,500& * 60% * 1Y€ * 23| 5,676

- 32X 3,787,400& * 60% » 1H * 23] 4,545

BRA 2,780,350& * 60% * 20 = 23| 66,729
-IEE 9,600

- i < Xt 40,000& = 10 * 12& 4,800
RN 20,000 » 204 = 12& 4,800
Ogs gsHl 600,000& = 12& 7,200
o4ty 8= 1,080, 162,000& * 10.12% 109,313
OHN4t AIEE S 5,500
OEaZ2 50,000
Oxa3 70,000
OZddl 202,488
— AlH| 24,000& * 22 * 232 * 128 145,728
- 524 70,0008 * 229 x 12& 18,480
— 2HAlH| 5,000& * 229 * 232 * 128 30,360
- S4AH| 30,0008 * 229 * 12& 7,920
OHa&d&EH| 29,028
— = Ety| 30,000 = 22 * 52 * 33| 9,900
— Al H| 24,000 * 22 x 62 * 33| 9,504
- SAlH| 10,000& * 22 % 62 * 33 3,960
-5 2Y| 5,000& * 22 * 6 * 33| 1,980
— 2HAlH| 4,000 » 22% * 62 * 33 1,584
-2 s X 3t 700,000& = 33| 2,100
OZ&H| 2l 38,505
- AEl 500,000& = 254 12,500
- AEHOIA 100,000& * 10JH 1,000
-otala 45,000& = 1004 4,500
- Al 160,000& = 229 * 42 ¢ 14,080
-Cel2st 45,000& * 174 765
—GK &Hl 4,000
-EHZ2 3 35,0008 » 1724 595
- =H| &2 20,000& = 1724 340
-0IA0A 25,000& * 174 425
— &d| Jrg 300
o=l 25,850
- S H I} 3¢t 350,000& * 22¥ * 13| 7,700
-&5 200,000& * 22¥ x 13 4,400
-SLU3 100,000 * 22 * 29 * 13 4,400
-&cld 150,000 * 229 * 23| 6,600
- ol Qoo 80,000 x 22% « 13| 1,760
=Yl 15,000 * 223 * 13| 330
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M MEXE 0
AN HEHE 24

el AelEMS 438 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
H==(82) 3,500,000& » 1H » 9& 31,500
H==(C3) 2,500,000& = 2H » 93 45,000
—d>FH (HAS) 70,000
Hd==(A=) 30,000,000& * 1H 30,000
&==(83) 20,000,000& * 1H 20,000
d==(C=) 10,000,000& * 2% 20,000
- ZHl 2l 6,400
BXEHU(EES HE &)
1,000,000 * 4%H 4,000
- ARE(4I)FL(HE, A S)
200,000& = 12& 2,400
s 2l 5,750
- &xald 200,000& = 53 23| 2,000
LS 200,000& * 5% =23 2,000
- SH I 350,000& = 59H 1,750
— 3 & otdl 10,000
=0z &Jtdl & 2,000,000& * 5% 10,000
- dXEEl 5,000,000& = 23l 10,000
—Ea3 500,000& = 4% =« 23| 4,000
-y a3l 2,000,000 =+ 13l 2,000
~ 2124 S| 3,000
-28= 23,900
dx=4cl2E 2 5,750
401 B2 165,000,000 * 11% 18,150
406 JIEFA =201 A 30,000 0 30,000
01 JIEtA=201 A 30,000 0 30,000
Oddax==2 AUEES(HHNI)
30,000,000& * 1= 30,000
Mgy 250,000 0 250,000
308 MtXIEHSOIH 250,000 0 250,000
10 3J/2S0HUHSEH4HAEALS I 250,000 0 250,000
ool 148,000
=2 148,000
2= (NS 40,000,000& = 1H 40,000
Hd==(A=) 35,000,000 = 1 35,000
& ==(83) 25,000,000& = 29H 50,000
= (C2) 23,000,000 = 1 23,000
O&dl =l 29,000
—-10M 21 18 2,500,000& » 4H 10,000
—-250 &J1 1& 2,500,000& = 49H 10,000
—10M A EF 28t A (BtA G 5A ) 550
—25M A EF 3 A (BtAY 5AE) 3,450




2N

=X

A M2HE 84
chel: dwelEXS B CERED
SN HH-S(BN) - MBAY - B il HlnE2
- AtZ 3t 250,000& = 49 1,000
-ZJ= 1,000,000& * 4%H 4,000
O=4ltl 200,000& = 5% » 9& 9,000
O=A29t| 60,500
-2ZZ2(HAH) 20,000,000& * 1= 20,000
-2 gz 500,000& = 9& 4,500
—ZXeldelAl 1,000,000& = 1H » 9& 9,000
— S AH| &22,500,000& * 9& 22,500
—=Azelyl 500,000& = 9& 4,500
OA%E 7l 3,500
ot 24 708,340 1,156,360 A 448,020
< 25,000
Al 683,340
AZE0IAE 43t 708,340 1,156,360 A 448,020
< 25,000
Al 683,340
CH L MIAL UE X (AHMM) 676,340 1,149,360 A 473,020
201 L2l 6,300 25,800 A 19,500
03 A2 Z Hl 6,300 15,800 A 9,500
Okt & M3 e s28+2 A
55,000 * 5IH A * 1424 CH3 3,850
Octe & MIAAWS Mz 28 =L
35,000& = 5 = 140143 2,450
202 O4dl 3,500 2,800 700
01 = LH 4 Hi 3,500 2,800 700
OAEZ=0HE HRFA0HI 3,500
203 YR =] 10,000 10,000 0
03 AIMFXH S =AY 10,000 10,000 0
OMSHAL 2HX Aed HRF2HI 10,000
301 gt d= 1,540 1,760 A 220
09 SALAHIEA S 1,540 1,760 A 220
Ot & dIIAUS NS AXAHE &
11,000& = 108 = 140HCH 3 1,540
307 gl2tol & 655,000 1,109,000 A 454,000
04 DIZHHALALSE E X 655,000 1,109,000 A 454,000
02019 ZaHAIZH d=30nSstn 2 FEU3 35,000
ORM192] oi=s0l1J] d=cIE02UH2 20,000
OHM393 Uet= sl & =35s8 720U
=] 80,000
02019 KBSHY &= =AHcld E0atIItal 95,000
OHMB8sl doAIZE 82 52 HLULAUE 10,000
OHM123] LA = SRS 40,000




=X 2 ot
CHEMY =54
CAEX0NE 243

S B G(SA) - NRANY - BES il 2
OM132 ZoHAIZH H=H=U3 30,000
020198 2dli=2Z OietEU 3 60,000
OHMbs6sl ¥EJ d=210DssW =FUE 80,000
02019 2atds222 Z2)| 8= &1 oIl
Ch3l 50,000
OXM7sl HolAIZH d=2ZZ0t0F HAALXTY
3 10,000
02019 st=HStA HH WS HH &= olIIHa 35,000
02019 Zoli OtESclZ OtetEUE 60,000
02019 ==& &= d=AUH3 10,000
Ok &9 & &3 HAla 0l XA 40,000
Coe 2 d=2R02 el RAU(ZHIER) 25,000 0 25,000
< 25,000
307 212+0| & 25,000 0 25,000
< 25,000
04 QIZFHALAIH 2 = 25,000 0 25,000
02019 KBSHH &= ZEAH 2l F0dt3l thal 25,000
25,000
HdXNEH RIS 2AZ=0HE 2 7,000 7,000 0
201 et 7,000 7,000 0
01 At 22l 7,000 7,000 0
OsHdXed =28 A
2,0008 = 2,000% 4,000
OdJI-sxeS A
200,000& = 3 = 5IHOH = 3,000
HY2H U (SR ) 92,600 80,060 12,540
| =& Hl 92,600 80,060 12,540
JlE&l 92,600 80,060 12,540
201 Lur2 bl 33,080 29,180 3,900
01 At 22l 33,080 29,180 3,900
OJIZ2Ae &I 7,700
OJIEt==EH| 1,000
OZEHEUY 8 dARE 7Y 6,000
O=AEX 2 1,200
OO0kt & S22 2L =4I
740,000 * 19€& 14,060
OZet SAI Xtz 260,000& = 12& 3,120
202 O4dl 54,720 46,080 8,640
01 S LHOYI 54,720 46,080 8,640
OJl2g =30t 54,720
203 YR =&t 3,600 3,600 0
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